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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING -~ SEMESTER — IV * EXAMINATION — WINTER- 2016

Subject Code: 3340602 Date:19-11-2016
Subject Name: Advanced Surveying
Time: 2:30PM TO 5:00 PM Total Marks: 70

Instructions:
Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. £2HIl SlEULL Ulctoll et W,
Define (i)Face left observation (ii) Transiting

cqluadl vl (i) Stoll ollege) Waclsat (i) ASHEL

Define (i)Line of sight (if)Horizontal axis

callull AUl (sl 2wl (i) &lldes wet

Define trigonometric leveling.

cluAl AWl Asle-Rdlal daQeatat

State effects of anallatic lens in tachometry.

AR 5L Hiuet UL AetlcAlEls Aot ofl 9 AR Al B.
Define (i)Staff intercept (ii)Height of instrument

cluAl AW, (i) RS VR (i) Gus0L ol GuLES.
Define (i)Vertical Angle(ii)Angle of depression

vl AU (i) GraltR wel (i) wdlold 53l

Draw a figure for reverse curve & define it.

BeslHl anlisell catvau dull Aol ausdl €L

Define (i) Tangent length (ii)Point of intersection in curves.
asoll el s dolle WA Deat-[lgoll catvau Awl.
Write full form for ()EDM (ii))ATR

()EDM (i)ATR ol Y&l 3U Gwl.

Define (i)Face right observation (ii)Northing

cqludl AVl (i) SHRN tlloge] AMaAA St (ii)BrlRidR

Write about uses of theodolite.
@082 ol Guol (@Y .

OR
How will you measure deflection angle using a theodolite?

As [Q2AS\cese ol Heedl [Quctot wol 585 RaA Hiual.?
Write a short note on transit rule.
2lofle ol [alet GUR &5 ol cull

OR
Explain the term Consecutive Coordinates.
‘sls A 7wl UE (AR AHsLAl.

Describe the general procedure for measurement of horizontal angle using a
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theodolite.
@2 cudeatl Heeell alldes wol Hiuctoll AHeA I AHAL

OR
Enlist any four components of theodolite & state their functions.

Q0SS 2atl 5le5 ULl R UL ofl oltd Al AAlell 51l el
How will you do leveling & remove parallax in theodolite?

@S\ 2e] UHAASQ 56 RA 5220 Wal axdl Ae 585 RA g2

59?

OR
For following traverse, find latitude & departure

Line (RUll) | Reduced Bearing(gule A3dl) | Length(GLedlLeS)
PO S50°E 250 m

OR N45°E 600 m

RS N45°W O0Om

SP S60°W 645 m

GUR YUl HIGURMEL HIS M2 R Aol il iR 2kl

Explain any one method of finding constants of a tacheometer.
2sllHleR oll RARLS! otssl scllell 518 Ul As A UM

OR
In tangential method, write formulae for finding horizontal distance between
instrument station & staff stations for all the three cases.

auglslal Adul GusWU WULel Aal LS Wlol cARAg] AR 2ucl

H2oll 2012 (Bl HRell YA Avll.
Explain fixed hair method of tacheometry.
AR 50l HIUel ol RAR AlRell (Rt AMsLA.

OR
How will you measure vertical angle using a theodolite?

dR @Al ol Heedl Bralur Well s¢5 (R Hul?

Describe the work you have done in the project of tacheometry

WEARSIQL HiUotoll YIBs2 HL X 5 st aulal.

OR
Following readings were taken in tacheometry. Find RL of station P &
distance between A & P. RL of BM=100 m

Inst Staff Station Vertical | Staff readings Remarks
Station RS Wlot angle (m) RS
Gus? GralluR awaetis ()

Ql vl
lol

A Bench Mark 0° 1.60, 2.20,2.80 | f/i=100 ; f+d =0

dcd@bos
A P +4° 1.10, 1.85,2.60

USHARSIRL HIUAHL GUR Yool oll cllUails A B. Al (g AU P
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AR} AR ol s (olg P ofl et GUE A dctRlose{l udat

Gu=100 Hl AL
Differentiate between theodolite & total station.
QA ASe WA 22 Aot Aol dslald AU,

OR
Derive the equation D=(f/i) S + (f + d)

D=(f/i) S + (f + d) 2 YA lRdl.

Explain summit curve with sketch.
QR as sl A A,

OR
Explain valley curve with sketch

vlol as vusdl WA el
Following readings were taken in trigonometric leveling. Find RL of top of

tower. Station A is nearer to tower than station B. RL of Bench mark is 60 m.

Distance between A & B is 45 m.

Inst Station Back Sight Vertical Angle while viewing tower
BUSWL WUt | UsllaAsot elaRe{l 3l Al amad GreluR
well )
A 1.2m 12°
B 2.70 m 10°

Aslgrlldla dAaiel 1l GUR Yool oll clUetis dlAd B. alaRell

2lRue{l e GALE A 2ot A 2laR Yl o5 B.

OR
Calculate radial offsets (taken along tangents) at 45 m interval to locate a
curve of radius 360 m & angle of deflection 60°.

ol s csoll A2l 360 Hl. slat wal (AUt WO 60° slad Al Rugls

Gurell A3l Rauml as GuR 45 Hl oll AR Bojcicl L.

It two tangents meet at 120° & if the are connected by a curve of radius 300
m, calculate

1 Tangent length.

2 Length of long chord

3 Apex distance

4 Versed sine of curve.

Bl A AULsall Bt 510l 120° sl W ol 300 Hl ol Bau Yl
RSIAA U, Al o{lA Yosol oll YAl .

1 2udls doues

2 (&<l el doues

3 OlLEL AR

4 dsell 2Rl

In trigonometric leveling , derive an equation for finding RL of top of a tower
when base of tower is inaccessible, instrument stations and tower are in same
vertical plane & both instrument axes are at same level.
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Aslglldla dAeateletil ataR ofl whet GuLe Wucl Hizef Y
dlRall AR 2lalRetl Utadl AYAA-202L &lat, BUSWL WULell el 2LaR
sy Gl AHAA HL Slal Al A GUsWQ Aol GULES AMLat

alat.

Write advantages & dis advantages of total station

22 2ot oll $LAEL Wl JR- SlAEL AVl

Write a short note on EDM instruments.

EDM Gus200 BUR &5 olltl cull.

State the situations in which tacheometry should be adopted.

UdAR 5lQL HUst 59 U Al uRlAlRA sauAl.
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